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g dq Aefefad & @ g &
fre flgaid W S e §?

A. WadeT

B. 39aciel

C. faad=r

D. qoT 3R WRractet

Ans. D

Sol. Optical fibre works on Total
internal reflection. It is the
phenomenon which occurs when a
propagated wave strikes a medium
boundary at an angle larger than a

particular critical angle with respect
to the normal to the surface.

TaT FegIEAT AU I TH.IS HFh T
g?
A. Y
B. &l
C. 9ahel

D. s/IteX

Ans. C

Sol. Young's modulus of elasticity
is the ratio of longitudinal stress to
longitudinal strain. Stress has
units of pressure and strain is a
dimensionlessquantity and SO
Young's modulus has units of
pressure. Its SI unit is therefore
Pascal.

I TS S eafy @ @EA aar ¥,
FET Bl

A. ATETH

B. dT9&TeT

C. gaca

D. 3Rad & & PIg gl

Ans. A

Sol. The speed of sound is not always
the same. Remember that sound is a
vibration of kinetic energy passed
from molecule to molecule. The
closer the molecules are to each
other and the tighter their bonds, the
less time it takes for them to pass
the sound to each other and the
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faster sound can travel. It is easier
for sound waves to go through solids
than through liquids because the
molecules are closer together and
more tightly bonded in solids.
Similarly, it is harder for sound to
pass through gases than through
liquids, because gaseous molecules
are farther apart. The speed of sound
is faster in solid materials and slower
in liquids or gases.

et faga aRoy & ogsr feas SpEr
glar &7

A. AT (F13d) & HAAR

B. #ggcT & HHATR

C. fmar (a1gd) & Wfker &

D. =g & et &
Ans. C

Sol. e« A fuse wire is a safety wire
connected in series with the live
wire, in case of any large current
supply or malfunctioning in the
electric connections it melts and
breaks the electric circuit.

o It is always in series with the load
no matter where its located. Many
loads have an integral fuse that
protects the appliance load.

e Usually there is a fuse (or more
common these days, a circuit
breaker) in the distribution box. This
is intended to protect both the wiring
and the appliance load.

faegd A 3T @ TifAw
3T H SeodT & |

A. gafa

B. Iify®

C. wrafas

D. fdega

~o ~

Ans. D

Sol. gdlfdFgeh AeX faegd sl Hr It
Far # gRafda & &1 I8 3@ Reyia
W IR & & 9 Bl egd-vares
Uleleh 1 Teh daehig &1 & @M 1l g,

I9d NTPC 2019 Hich ¢« H&wt X
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dl TE Uk S o T AT AT
Sdr fgar weiffder & dwe-gs fAaw
AT & o § AR oraer aR#Amr e
canrT fear amar §

§ef, F =B I|=gcd

gl B weber/m & deshrg &1 &

I TR # #ie g 3R | Hex &7 *isar &
TS B

"X W aEgt Hr osufEufat & ogar
ETel & forw XA e # 3uAer FRe
arel Ugo <Ifed HieT A?

A. % faucw

B. Solol UTEhel

C. foera qifelr

D. Wﬁ?

Ans. D

Sol. e The German inventor Christian
Hulsmeyer was the first to use radio
waves to detect "the presence of
distant metallic objects".

¢ 1904, he demonstrated the
feasibility of detecting a ship in

dense fog, but not its distance from
the transmitter.

rafaf@d deal & & foRAdT el
e A §?

A. &

B. TEHIH

C. el

D. Fe[Re

Ans. D

Sol. Fluorine has a low melting
point and boiling point, the lowest
of the halogens. This is because the
instantaneous dipole-induced dipole
bonds are weak due to F2 having
less electrons than any other halogen
molecules. Fluorine is the most
electronegative element of all.

Fe & =gfSwad # 26 Waie gld & |

Fe2+ (II) 3ad & Solacld & T&dT
fohdelr gicr 872

I9d NTPC 2019 Hich ¢« H&wt
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A. 24

B. 26

C. 28

D. 13

Ans. A

Sol. e Fe2+ ion contains 24 electrons.
e There are 26 electrons in Fe atom
Fe atom loses 2 electrons and
change to Fe2+ ion. So there is 24
electrons in Fe2+ ion.

fArfafaa & @ sla-ar Waref acg ¢ 2
A. FldTec
B. Rfag#
C. 3T

D. HITEIH

Ans. B

Sol. e Uranium is weakly radioactive
because all its isotopes are unstable
(with half-lives of the five naturally
known isotopes, uranium-233 to
uranium-236 and uranium-238,
varying between 159200 years and
4.5 billion years).

e This radioactive metal is unique in
that one of its isotopes, uranium-
235, is the only naturally occurring
isotope capable of sustaining a
nuclear fission reaction.

Aezw SRwr F e
AH T |

A.

B. 3edlamd

C. g&ell
D.Eﬁaj

Ans. C

Sol. Tamarind, whose scientific name
is Tamarindus indica is a leguminous
tree in the family Fabaceae
indigenous to tropical Africa. The
tamarind treeproduces pod-like
fruit, which contain an edible pulp
that is used in cuisines around the
world.

ag A fha kg AW &1 Igad dSd
31T BT §?

h &=
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12.

13.

A. FIT 35 HFASS

B. ATscH 3iFTSS
C. 3

D. Frefd A 3ifearss
Ans. C
SO|.oaT<’£I_,' #q e 3w g &

HRAH 3FeqaTc BT &

o ATY Jeldl-3icleT AT A AT Fr AT
g SOH SETIET 78% T AT H 78%
ATSEISTe, 21% 3ifadlete, 3 3R 3+
e g afda &1 e sE3Eass
0.1% & 0.3% & A= H Bt gar &l

fre 3| @ A M & & H FE6
ST ST & ?

A. #ide

B. e SS3{FATSS

C. ArseH 3Farss

D. gISgIelet

Ans. D

Sol. #=gEE & (Ghvgsh) s &
JIATEROT #H TH g § S UHT SRS
& & fiaw f[(Bfeor & g iR
3cafold @l gl Ig ghhar Mg
g F Al dROT gl g &
agHsd H WiUAe deesd W S
g, Fe  IBAFAES, HIA, ABcH
3iterarss, AR 3T §

Ffaf@a # ¥ &la @ AT R &
ST 937 AT §?

A. 3TSRIT HITARIT

B. 39chell HIfAFIT

C. df¥er sifrre

D. 3iftafds Fifwe

Ans. C
Sol. dl¥#r FIRFT AT AR A I

Sl HIRNAT §| Th =g, o =T
3R dfFer AR & 0 & i AT ST

I9d NTPC 2019 Hich ¢« H&wt
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Td IS Hehcll & ATETH & I3t
1 it , 3 3R 3 duR
gl Tew & 9T A Hohd faRrse daer
& ATETH F gId § oleg Rocd Fgd ¢

R &1 T @1 3T FgAfAEr T F
gaTfad grar 872

A. c@ar 3R 37a

B. 7T AW

C. P

D. %%3
Ans. D
Sol. e AT s ¥ar AT HHI H

gie T HHATT g

o JE Siaro], AWy 3Yar wash & @RT
torar g1 Sharo] P aent # g
arell TTHT IHR gl

o AT @ gAR GBSt HT arg Aot
# golel 3 S §, Sie¢ ag Hifsese
Fed Bl A HISSHFT H aT 3Hy>ar
AAlG R AT § foEE @ od H
R BT B

AT 3RE Ao @ Fefat@d 7 @
s aRafda a=a & 2

A. sTseer

B. 3maAfaar

C. aArsafaag

D. 3= uias

Ans. B

Sol. SIF-3R& AL & FAAT H

gRafda gid g:-

o AZAIG fheAes TH U gfRAT ¥
s SRt gedt & agHAse H ATSelsld
F AT (Taw 3) ar Shfaa Sfatr &
T 3ueretr 3w 303 & aRafda fear
ST Bl

o JYASAY AlSgloled I 0TS I
aATSelStel (UeT 2) 3M9eTehd ATSha & I@
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16.

17.

v A F @[T & QAU e @EEr
& ary e F gfafear a8 war g
o FATECIoT ThaaeeT ASeield  fhieder
JFRTT S TARNER AT el #
Tarenfas &9 & R ST g1

frfaf@a & @ *ia-a1 t& FElkesse
g?

A. segfast

B. Jomsd

C. Tofehiel

D. IR
Ans. C

Sol. « TFHIS UF FEEEIC &
eIRAT (NH2) 2CO Teh WIS § S

N

WET & Teol A T § 3R U qE 4
HOfRISe 3cure F T OH W @R
3cHfSTd gia &l

o 5 T gl g

Aefa@a & @ g o fH a= @
mqﬁﬁwaﬂw%’?

A. TT% (ITgeH)

B. dohdl (FallUH)

C. T% (SMSIH) TAT Todhel (FlUH) et

D. daf 37YdT IS & 30T

Ans. A

Sol. Xylem/Sapwood

e The xylem, or sapwood, comprises
the youngest layers of wood. Its
network of thick - walled cells brings
water and nutrients up from the
roots through tubes to the leaves
and other parts of the tree.

e Xylem cells in the central portion of
the tree become inactive and die as
tree grows. These led to the
formation of tree’s heartwood.
Phloem/Inner Bark

e The phloem or inner bark, which is
found between the cambium and the
outer bark, acts as a food supply line
by carrying sap (sugar and nutrients

I9d NTPC 2019 Hich ¢« H&wt

18.

19.

20.
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dissolved in water) from the leaves
to the rest of the tree.

MR 7 AT #1 & §

A. JTUTaTg 1 gRage

B. S&EIRAT &1 faarer

C. HATAIT (IFAITdT) Hr HAUTH

D. ¥l dcd T 39I19T

Ans. A

Sol. The function of haemoglobin in
the body is transport of Oxygen.
Hemoglobin in the bloodcarries
oxygen from the respiratory organs
(lungs or gills) to the rest of the body
(i.e. the tissues). There it releases
the oxygen to permit aerobic
respiration to provide energy to
power the functions of the organism
in the process called metabolism.

qE ROyl @ el g €
A. HfIH 3ifFdroe
B. QI3 FaRISs
C. #AvAifge Arsee

D. $feqax duhele
Ans. A
Sol. frsst T oA FEfde F Ty

gl 2l

o FTRHA 3iiFoiole 3iiFaifold 3T &1
Th  HfREHA  Fd glaT ¥ SHe
TEEfAF §F CaC20a &l

o HfRrH 3fFolde T fader gerdt ¥
ST ool ¥eT X Tl ¢ IR 39 T W
e & Wahd § 3N Feg o g wadh g
o 5 U FRIHA 3Tt T FIAGOT
W § it 7@ 9t #1000 & HH
e gonfaar 7 ¢@r = gl

gRagsT Acas yomell & WU HT FAT
3T g2

A. FAR grpfas e

B. aiftifSas wrafas

e



http://www.gradeup.com/
https://xu75j.app.goo.gl/6AvH

www.gradeup.co

21.

22.

23.

C. gdfsd yrpfaes I

D. gufad grpfas da

Ans. C

Sol. .uash., dNsT upfds g @t
vefdfa aar g1 wefas N qET 9 4@
AT g & AR &S ol ganr e
W # T g9 3R FSAT 9°d F F
T vaer fRar S 81 e 3R Ao
$r g Ig Th A gl

Hiel AT IFAHHE FAGTT Feolldl 872

A. Ot

B. O

C. AB-

D. AB*

Ans. B

Sol. It's the blood group named O-
which is known as universal donor. It
is so because it has neither A nor B
as surface antigens on the red blood
cells, also the fact such blood group
also lack D protein, as a result there
is likely immune response against it,
making it a universal donor.

23 x 10723

4.8
9.1 x 103!
6.0
6.023 x 1023

A.
B.
C.
D.
A

.6.023 x 1023 &I ERTET T&AT
a»—g:a g1 3mannyr fAudis, s @i,
WA WA 1 BT HT g5 TE&dm
g, S 9ery &Y U AT AT H gANRT
gidr g1 I8 RARRa aRkAmr g1 mammar
TEIT HY LAT Na T ATTAT T Tohot &

3T RN #7 STk FE AT SATar &2
A. fEEr Hzelw

B. Teelsil ofdiiRR

C. Sl 7goisq

D. gIr Aol

Ans. A

24,

25.
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Sol. Dmitri Mendeleev is known as
the father of periodic table. He
was a Russian chemist and inventor.
He formulated the periodic law,
created a far sighted version of the
periodic table of elements, and used
it to correct the properties of some
already discovered elements and also
to predict the properties of eight
elements yet to be discovered.

fAFfaf@d & @ &l &1 oo arerd 82
I 9R&H - gl

II. R - R

II1. YhIeT aY - §HT

A. Faer 111

B. del I o I1I

C. &l II

D. s er &

Ans. A

Sol. Light year is the measure of
distance and not that of time. It
actually means the distance which
the light can cover in a year. Based
on the definition, one light year
equals to 95*10!* Kilometers.

faed & JUH G HFYE HT FAT AT §?
A. @r.3rdr 6600

B. gotdaic

C. T1.31 U303 3 3R A1/ 20

D. UI.U.31R.T.TA.-8000

Ans. A

Sol.«The name of the first
supercomputer of the world is
CDC6600. These were the first
mainframe computers and belonged
to CDC 6000 series which was
manufactured by control Data
Corporation in the 1960s.

e Supercomputer PARAM 8000 (made
by the Centre for Development of
Advanced Computing (C-DAC)) was

launched on July 1, 1991 is
considered India's first
supercomputer.

I9d NTPC 2019 Hich ¢« H&wt
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26.

27.

28.

gaaifad fawe fFa fgaia w &
AT g7

A. =g & Tledrd

B. drEshel & Rgard

C. SRS ¥ g

D. 3ol & f&eaid

Ans. B

Sol. It's the Pascal’s law on which the
hydraulic lift work. Moreover this law
states that in fluid mechanics a
pressure change occurring in a
confined incompressible fluid is
transmitted throughout the fluid such

that the same change occurs
everywhere.

AT & TUar & & & FE e JAar
g?
A. R 991

B. TeleT gRar

C. Y#s cHAfeeT

D. Telld #A%H

Ans. C

Sol. Raymond Tomlinson is
considered as the ‘Father of Email’.
He was a pioneering American
computer programmer who
implemented the first email program
on the ARPANET system, the
precursor to the Internet, in 1971.

He is internationally known and
credited as the inventor of email.

Awa. el & faeaRa &7 Fr g2
A. el gl tfecegs whar fStew
B. cffieter g1 ufeeeys whar et
C. iAo g8 vaifadr wRar fSthew

D. cfAaer gic Taifadr thar Bt
Ans. B

Sol. eTerminal High Altitude Area
Defence is the full form of THAAD. It
is an American anti-ballistic missile
defence system.

e During the Gulf war in 1991 when
Irag’s Scud missile attacks, THAAD
was developed after this experience.

I9d NTPC 2019 Hich ¢« H&wt
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e It was manufactured by Lockheed
Martin, deigned in 1987 and
produced in 2008. The weight of
missile is 900kg, length is 6.17m and
speed is mach 8.24 (2.8 km/s).

CaOCl, &T AT A 4T §?
A. SfFer Tr3sT

B. afrar Atsr

C. selifddr 93X

D. &Y ST @Ier
Ans. C

Sol. e Hhfcmd REEEGIRE
Ca(OCl) o8 a@Aad: fadetehr =[o7 &
T H AT ST g, FEH IR A
ITUR & fov sl voie & &7 & fFar
ST gl

oTF AfME 3aTHFA R grar § 3R
SH, AISTA EISUIFNISe I Jolell
3% Fakia 3ufeya gidr g

eIdg The B T § S U A
IHARH gelreler 7€t @ar & 3R 7g
ALTH-FOR Ul H A 3uAer fmar
1T &l

ROM & Harfgd BIOS U & B 38R &7
FaT 37 §?

A. sf@s

B. g€

C.s™

D. fosreie
Ans. A
Sol. BIOS &I I #TH 'df@® gaqe

3Beqe fAweA' gl @ WaH JA A
TafRd gar &1 o9 P 3uANETRar 9
@I Al AT § of BIOS Ygel Teh affsh
¥ (POST) Fgd g, Ig &1 Jg AuTiRa
WA F v Far aar § & oash
3icaHT 3UPYd § IR FH H | § AT
qET H e gl R g A e

e
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31.

32.

33.

F HPR H A veaw AAT () A
s T gl

To[lel, Uewleed # fha fafr camn
aRafdd g &2

A. Truae

B. 3ifereTentor

C. 3rHa+

D. grsaifafaa

Ans. A
Sol. e fhvasr gg ufhar § GOd AR
TRl ART  FH R IR @

SEAHTFAES H IS &ar Bl

o 3Tl 3R Ul & THYOT F SIS arel
gar A fhvael & Bl & COANE & orgel
IGELCEY

g HecaqUl ¢ b IS ga1 Al e &
IT @AR $qAISH TS & i |

SolFClel I U ael I GfehdT &I
_ #Ed g

A. 3TeFdTeRIOT

B. 3I9Tdd

C. fafeor

D. 3TFERI0T JAT 39T et

Ans. B

Sol. Redox is a chemical reaction in
which the oxidation states of atoms
changes. It involves the transfer of
electrons between elements.
e Oxidation is the chemical reaction
in which there is a loss of electrons
or an increase in oxidation state by a
molecule, atom, or ion.
e Reduction is a chemical reaction
where there is the gain of electrons
or a decrease in oxidation state by a
molecule, atom, or ion.

3iterefreoT T 3fRfRIT & Fr gar &2
A. 9eiE @d § |
B. Solgeled @A § |

I9d NTPC 2019 Hich ¢« H&wt
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C. 7efa @ © |
D. Sogi=d uIed & & |

Ans. B

Sol. Oxidation is a chemical reaction
which involves exchange of electrons
between two reactants. The reactant
which loses the electron is oxidized.
An example of oxidation is when iron
combines with oxygen to form iron
oxide or rust. The iron is said to have
been oxidized into rust.

TTel T T 87
A. a8 f3eaex
B. @51 dd AH
C. sl amw

D. AT & T&h AT

Ans. A

Sol. e A polygraph, popularly referred
to as a lie detector, measures and
records several physiological indices
such as blood pressure, pulse,
respiration, and skin conductivity
while the subject is asked and
answers a series of questions.
e The belief underpinning the use of
the polygraph is that deceptive
answers will produce physiological
responses that can be differentiated
from those associated with non-
deceptive answers.
e The polygraph was invented in
1921 by John Augustus Larson, a
medical student at the University of
California, Berkeley and a police
officer of the Berkeley Police
Department in Berkeley, California.

fArfaf@d & @ #id vh gaqe Basa
oTeT 87

A. Tt

B. #HvAfesh & daeX RepfarerT
(TASTEHNIN)

C. 3iifSewa AT RFfIe (NTAIR)

D. sReI8 =X

Ans. A
Sol. Plotter is not an input device
rather it is an output device. Like a

h &=
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36.

37.

38.

printer it is a computer hardware
device that is used for printing vector
graphics. Instead of toner, plotters
use a pen, pencil, marker, or another
writing tool to draw multiple,
continuous lines onto paper rather
than a series of dots like a traditional
printer.

Soldelel T @Wiel fohder dr A?
A. V. TMesElla

B. 31, 3. AT

C. 3¥T TEIHIS

D. & Jsfa=+

Ans. B

Sol. Electron was discovered by J1.J.
Thomson. He was an English
physicist and a Nobel laureate who is
credited with the discovery of first
Sub atomic article. He did this
discovery with the help of cathode
rays.

MICR & 3/farcd &9 & ‘17 &7 37Y §?
A. scifdea

B. SABERIT

C.5%

D. g&garrd
Ans. C
Sol. MICR #, I & Hehdl Ink &1 SHPT T

aTH Magnetic Ink Character
Recognition &I Jg &fFer &3 & Il
IR e gEaESr & FEEd 3R
fAEARTT A 3 a0 & fow wter
g arell Teh depelleh &

HAATTT WT TFh diAedr @R §, S
¥ 7f@d Ao & Yad F @ar

gl

A. g

B. 9RT

C. drar

D. A
Ans. B

I9d NTPC 2019 Hich ¢« H&wt
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Sol. e Minamata disease is a nervous
disorder caused by eating fish,
polluted with Mercury.

e The disease has Symptoms like
numbness in the hands and feet,
general muscle weakness, loss of
peripheral vision and damage to
hearing and speech. It can be
treated with surgical intervention.

ST 9ISt & o] dalfeldh A T 82
A. TRAIST AdTeTogshT

B. STfelaitexr ATFIAH

C. 3Eig cafFaud

D. gfoted cgshetherd

Ans. A

Sol. SOME COMMONLY USED
ZOOLOGICAL NAMES:
Blue whale-Balaenoptera musculus
Giant panda- Ailuropodamelanoleuca
Mouse-Mus musculus

Monarch butterfly-Danaus plexippus
Lion-Pantheraleo

afefla & O sla T & g &7
ITTF §?

A. SIIABE

B. @4T FAHA®

C. dig-3eehl

D. 3Tl IT HIUROT FHoal Grar

Ans. C

Sol. Siderite is an ore of iron. It
contains around 50% iron carbonate,
followed by zinc and magnesium. It
is lustrous and hard found in
hydrothermal veins and sedimentary
rocks at shallow depths.

el faefafad & & fohaehr w=R ard
g?
A. FTefgTsge
B. &=
C. gfas

D. e &=t A
Ans. B
Sol. gTel W& FT Tah Wi A g

h &=
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42.

43.

44,

o ¥ el diel & qREr # divl &1 @y
AT &

o Tel HET &9 F o &1 & 39T arelr
I el 1 3aTE0T: TAT, AKX, dled
el

T gaey aAfa A ureg fr oag, &fde
AT Th FAH g &, a6 aEG H Arer
iR 9 gaIfa foRar S |
A. 180 3721 For Afrer
B. 60 371 FoT Arer
C. 120 3721 FHor Arer

D. 90 372T HUT AT

Ans. D

Sol. Projectile motion is a type of
motion in which an object is moves
along a curved path under the action
of gravity. A projectile launched on
level ground with an initial speed Vo
at an angle 6 above the horizontal
will have the

e Same range as a projectile
launched with an initial speed Vo at
90 ° - 6.

e Maximum range when 6 = 45 ©°,

faegceei
T arar ar |
A. afergsr frese
B. 3{ehs siidol
C. % AETGER

D. ¢3 dAcdsd
Ans. A
Sol.eT&h SoFCIETHY Th  JdAlAH

30T ¢ e 3uer Rt R )
faegd smaer & 3ufeyfa ik aRamr
qdr e & foT fRar Srar &1 s@er
JTfashR RfeTsw @reae & foar am

EanT HTfashk

& THS W A FEd 8?
A. JIEFRRR
B. HIARFHRR

45,

46.

47.
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C. R

D. gIOIEhRR
Ans. A
Sol. ¥ &I drgHSe H$ Wal § &= g,

HEAT: YHIRIHSH, qUTHSH 3R HRIAT &
g Bl gF & argAse Y Hed e
WA YHRIFASH §| Ig 98 R & ool I
& oAl TPl F & A FHwd g B
7E GI T TAS "wAG' ¥ gEieT 9
I & IHGA HAG Fgl STl ol

TShIE TUIAT BT dallfeleh ATH &
A. drdrhel
B. F[erATER
C. SHar

D. %

Ans. D

Sol. Chiku has its scientific name as
Achras sapota. It is a native of
Central America and were introduced
in Philippines by the Spanish people.
From there it went on to spread to
Indian subcontinent. The fruit has an
exceptionally sweet, malty flavor.
Flesh ranges from a pale yellow to an
earthy brown color with a grainy
texture and has glossy seeds within
it.

L N 5HE & |

A. Fufaesd

B. gfafsear

C. faegd v

D. feega arerhdr

Ans. A

Sol. emRdr #T SI 3H1$ s §| 1 ¥E =
1 FHolFa/alee| Th IS @A Th HUIRT
H aRar & T & R fear S &
Sg# sgdl Toldl & &g UTeh dlec &
Qe A TUTAT g TH Ford F
3TA F HTGLTehdT gielr |

CRUC AR ERC 2214
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48.

49.

A. I1fad x §8T

B. AT/

C. 91t x caxor

D. ettt

Ans. A

Sol. e ¥l T feer U § 3k I Fel
ff APRIHAS G & Thal Fhifh ITg
e & Auda aRATT S F& AleAar
gl

o ST AU TR aEq T AT & 3curg
& & A Hr Sl & IR R avq ganr
ﬁ?&ﬁﬁ%ﬁﬁ’gaa:qgaﬁrasﬁvm
form e g

o3 AT / "o F ¥ H »ed A
iG]

ey fFT genfa & 3ideTd 3rar 87
A. AT
B. i

C. SHISAISHeT

D. &iser

Ans. A

Sol. Octopus belongs to the phylum
Mollusca. Octopus are soft bodied ,
eight armed invertebrates found in
coral reefs, pelagic waters or sea
beds . They have an excellent sense
of touch. The species belonging to
phylum mollusca have a calcareous
shell and are bilaterally
symmetrical.example snail, oyster,
octopus , squid.

PVC &T quT &9 &1 §?
A. BRI AT Frefaic
B. uTel faairser wH Fefae
C. grell A8 Frefac
D. grell [aesel FaRESs

Ans. D
Sol. qra@#. & qu A diel fa=g

FARSS &1 I8 U yAfcanf@es § St T
AR faser FdAREs CH2=CHCI &

I9d NTPC 2019 Hich ¢« H&wt
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SgeNleht0T GaRT STl St gl drara.
TH A W HARH IR ST WA W
AEd g ST gl %R H gool, foaeaT
gfafhdlcAshar, 3Tg &Far 3R
eRIEAANTdT S JOT & HROT R
gaer urgy, fAegd dR VU e H
o Srar &

HeWER d U3 ¢ TolaTd gl &
A. T9aRa 313

B. ®IARAT oot

C. I FA dTell TS

D. @ H¥a arel deol
Ans. C
Sol. #A=AaT 9 4iY § Toletdl a8l T 9

STl §1 & ofauT HegeTelier g&7 § i faed &
IsuThfeatiT 3R IuSurefead &Er A
dET @R S A A §l A FgAABR
(pneumatophores) & HATETH A3iTFEITT
TEOT X § S Hag A egae A § AR
3% UTH gl 3Tcalrdel 3R I8t T fohar
& WY WHAT & fAT gear AR grerer 55
gla &1

TAI & IRAdT T T FAT gar &2
A. & T%er

B. gara

C. s

D. a1

Ans. C

Sol. Force is defined as rate of
change of momentum. Force is a
push and pull motion and any
interaction which when unopposed,
will change the motion of an object.
It causes an object with mass to
change its velocity. S.I. unit of force
is newton.

Fa Hifas AT &1 DHT H AT Rar
ST 82
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53.

54,

A. faga fasra
B. fatd drerehdr
C. de=hI yaTg
D. 3r9ddeish

Ans. B

Sol. Electrical conductance is
measured in Siemens. It is the
measure of a material's ability to
allow the transport of an electric
charge and is the ratio of the current
density to the electric field strength.
Its S.I. unit is siements per metre.

Th (3B) sa 7 v arafas s
T 39AET HAT AT §?

A. IERITH NASS

B. GIicfa# FeiRTss

C. e FEfac

D. 9 Tothe

Ans. C

Sol. Potassium Carbonate (K2CO3)
is used in making glass, dyes, and
some soaps. Potassium Bromide
is used in photography. Potassium
chiride and Potassium sulfate are
used in making fertilizer.

I AORIRT S arell Jeear &
g 87

A. qOT AR Trdce

B. g

C. gdieor

D. eafdeor
Ans. A
Sol. FIJSUM e dTell e, quT

Wmﬂ%|mawwwwahzr
gRgear 3rar v 97 & S wehrer &
WA & HROT Scdeed 3 &1 FICISOT,
e ot F gl & Ster e
&fas & 99 U6l dEa § 3R 3@ U
A FRAT W §, AfhT ST & T FT
S § Ul 3T §¢ ST gl vEr safav

55.

56.

57.
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g Fa T aeafasdr & ggl 9T g Jdt
BT §, Ig Shad TEE HH Bl

HAEEER $I TS 1 A & oY F
YT I 3YANT HAT ST 872

A. dFarHe

B. alaiteTex

C. FerHeT

D. grIgH

Ans. C

Sol. Fathometer is used to measure
the depth of ocean. This instrument
is based on the echo-sounding, and
the water depths are obtained by
determining the time required for the
sound waves to travel from a point
near the surface of the water to the
bottom and back.

i & 3R A RS AT BT 87
A ¥fEw aifa

B. oy arfa

C. 9o

D. Fall

Ans. B

Sol. The Planck constant has
dimensions of physical action; i.e.,
energy multiplied by time, or
momentum multiplied by distance, or
angular momentum. In SI units, the
Planck constant is expressed in joule-
seconds (Js) or (N-mss) or
(kg-m2-s71),

Toalfad  dlgell H gadifad s g
fRiegid W F ad ¥

A. 9rERd & flgaia

B. WREMRT ¥ Rggia w

C. & ¥ Riegia W

D. e & fggid W

Ans. A

Sol. Hydraulic break system used to
stop moving vehicles and work on
the basis of Pascal's principle. It

states when there is an increase in
pressure at any point in a confined

I9d NTPC 2019 Hich ¢« H&wt
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58.

59.

fluid, there is an equal increase at
every other point in the container.
Pascal's Principle in the Auto braking
system, Hydraulic Brake. When
brake pedal in pressed, the force is
transmitted to the brake shoes
through a liquid (link)

AR Rueret T Hel FishadT 7T §7?
A. Hordisl

B. fa@sa

C. ¥fsarafeaar

D. 3udad & & IS =Agr

Ans. B

Sol. 5§ QATH-235 AT ToEli=aA-239

ST 93T Wgfohel  WRA] AlfHR  Th
el N HEAMWT Har §, @ TE
WA AEsA q IR Aehar gl HRY
TS ar AT J™F gob A1fAS, (_A@seT
3cuel) A fwnfea @ar & 3k afas
Fott, AT fAfRROT, 3R HFA wgglad @l
I A §| T HIT S I,
ad 3R urhfas A @ S g §IT
396l Uit & AT & fastell &7 3cUIceT
A Bl AW T§ & B WA 0T 3o
fr 58 Sted 81 38 sog, 3 RATA
ST FT YA I g, ool TaTATIT
gfshar & ATEIH T fooTell 3cUled & fow
g fRfAs ==t #71 seaara afaa gl

ANl Y g RON & deq cFaieyd fhw
T &-

A. THAT] HEAT & F&d FA H

B. TXATY] $R & S A H

C. frarefierar & sgd e &

D. dcal & YR &

Ans. A

Sol. Mosely’s periodic table -
According to their increasing atomic
number

Mendeleev’s periodic table -
According to their increasing weight

60.

61.

62.
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IGLEICECGRIRERIGE ISR

gfesar gfiEae

a. arsqs l.gg @ dw
b. Feauras 2. A g
c. fgdTor 3.3 ¥ 9
d. Reaar 4. 39 ¥ gg

A. a-1, b-2, c-4, d-3

B. a-1, b-3, c-2, d-4

C. a-2, b-1, c-4, d-3

D. a-2, b-1, c-3, d-4

Ans. B

Sol. e Evaporation is a type of
vaporization of a liquid that occurs
from the surface of a liquid into a
gaseous phase that is not saturated
with the evaporating substance.

e Sublimation is the transition of a
substance directly from the solid to
the gas phase without passing

through the intermediate liquid
phase.
e Freezing, or solidification, is a

phase transition in which a liquid
turns into a solid when its
temperature is lowered below its
freezing point.

e Melting is a physical process that
results in the phase transition of a
substance from a solid to a liquid.

FIeFe ol FT MaShR Hga fhar?

A. tfdear $f

B. Tslew e aﬁa Ttheh

C. YeHS wAfHT

D. SdIse BifeRiaT

Ans. B

Sol. Adolf Gaston Eugen Fick
invented the contact lens. He was a
German ophthalmologist. In 1888, he
constructed and fitted what was to
be considered the first successful
model of a contact lens: an afocal
scleral contact shell made from
heavy brown glass, which he tested

first on rabbits, then on himself, and
lastly on a small group of volunteers.

AT
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63.

64.

A. RiFT

B. THITAT HaAl FHex

C. gBaiHeY

D. ¥AHR

Ans. B

Sol. THETAHAAFIC IFdad A H
T 3UHOT §l SEHA Uk gAgFd (€3
HoTS-ac gl § O g1y WX ster Siar
g, St 38 A & S8 URT T A FET
8T &, I W Sedr g3 YA e
gar &1 st Reafas 3R sfew
AT T UR-ER gaTgerd 635 FHolls-de
H AT & INT gaRT faefRoT &ear gl

aaer afad # & d@del & 9T fRE gER
FT TYUT ol oT3TAT AT 87

A. Soold TYoT

B. IIcATcHS €YOT

C. Tifae avor

D. gfdegs avor

Ans. B

Sol. FrsAfes a¥uT gg dof § S AfAHA
gl & T FF FIAT &1 Gdg I el
arell U &g I dAfa B feur &
oI fqem # ush gof @ 3qerd M|
o FT IRAT g YR Hr T & T
& fpaifesh a¥or & Tolier W R aar

gl

U fOefgldl HFERT JSEHT H ggel
AER s garT @i a1g?

A. ST fhaw 'St sar

B. dtHdcar ST dier

C. sfag FFX

D.mfaﬁnmsﬁ

Ans. A
Sol. The first picture of a pinhole
camera obscura is a drawing by an
astronomer Gemma Frisus' De
Radio.
A pinhole camera or dark chamber is

I9d NTPC 2019 Hich ¢« H&wt
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a camera with a pinhole aperture and
no lens. Light passes through the
hole; an image is formed in the
camera.

He used the pinhole in his darkened
room to study the solar eclipse of
1544. A pinholelensless camera is
a light-tight box with a very fine
round hole in one end and film or
photographic paper in the other.

fehdl JUTTell 9 oy 917 el o garT

38 YUTl &l AT Teh HOTell & GaRT fhd

W FAT F GEE FEAROT H
FEd ¢ |

A. F1H

SRNIES]

C. draar

D. &

Ans. A

Sol. Work done by an external force
on a system is always a transfer of
energy in the form of kinetic energy,
but the system may be
instantaneously converting it to some
other form of energy.

Tsh p-e3Y IR n-TEy T H Yy

Afedld & A 3R ST
EaRT Ted fRaT ST AT &

A. IR AR FREHRA

B. sfesas 3R @

C. QIfzga 3R FAalRma

D. BrERRY AR |fsgH

Ans. A

Sol. e An n-type and p-type
semiconductor can obtained by
doping pure silicon with

Phosphorus and Boron.

e Phophorus has 5 valence electrons,
SO it will produce n-type
semiconductor. Boron has 3 valence
electrons, so it will produce p-type
semiconductor.

e In p-type semiconductors, holes are
the majority carriers and electrons
are the minority carriers. P-type
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67.

68.

69.

semiconductors are created by
doping an intrinsic semiconductor
with acceptor impurities (or doping
an n-type semiconductor).

e A common p-type dopant for silicon
is boron.

g §ifde AT AT SHE IR JAdl 87
A. STScd ATHUI

B. qard

C. ddara

D. JaT & AR

Ans. A

Sol. pascal as the unit for measuring
the internal pressure of a system
undergoing expansion or contraction.
The pascal is also the unit scientists
use to quantify internal stress

experienced by a metal body, and it's
the unit for Young's modulus, which

is a measure of the relationship
between stress and strain in a
material. In other words, Young's

modulus is a measure of the stiffness
of the material. Finally, the pascal is
the unit for tensile strength of a
material, which is the capacity of the
material to withstand loads that tend
to elongate it.

P sifas A= &1 dEHw J AT fRar
ST 87

A. faga fasra

B. faYyd arershdr

C. ey garg

D. 39adelis

Ans. B

Sol. Electrical conductance is
measured in Siemens. It is the
measure of a material's ability to
allow the transport of an electric
charge and is the ratio of the current
density to the electric field strength.
Its S.I. unit is siements per metre.

4°%C 99 W 96 & SYdgR @l
_ YHR gl AT gl
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A. Qs
B. il
C. 358

D. afaa

Ans. D

Sol. The anomalous expansion of
water is an abnormal property of
water where it expands instead of
contracting when the temperature
goes from 4C to 0C, and it becomes
less dense.

e Hydrogen bond is responsible for
the anomalous expansion of water
below 4C.

e Water is denser than ice while
almost all the other substances are
denser in solid form than in liquid
form.

TH garey afd # ogred i aS, aifas
AT Th FAA g &, Ie &g H Aer
3R R galT fFar |
A. 180 3721 FoT et
B. 60 3121 FoT Arer
C. 120 3721 FKor Arer

D. 90 3721 ur fter

Ans. D

Sol. Projectile motion is a type of
motion in which an object is moves
along a curved path under the action
of gravity. A projectile launched on
level ground with an initial speed Vo
at an angle 6 above the horizontal
will have the

e Same range as a projectile
launched with an initial speed Vo at
90 ° - 6.

e Maximum range when 6 = 45 °,

geleprceY &7 3TfashR forger fhar?
A. SRR

B. faeprehf

C. el

D. 5

Ans. B
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72.

73.

Sol. SR gaEifag fAeRESS, gaollhreet
3R frees-fAor A o= & e &&4-
3AREr faaA= & &7 & 3goh §1 1939
# gidar & ygel cATaEIRe gellshicey
38 & g6 AeREdE, dJaAR AR
3cpsedl & Uid AU wideeudar &
HIEIH ¥ 36191 # 390 a1 R

dd NG F CaRT  3fdshR
o arar ar |

A. =gfade fafs

B. St et

C. afheq areT sheter

D. g8 30

Ans. B

Sol. daT 3MHfd & IASHR ST deT A
far a1 9= Ipfa @ mhfa & S
affer At & AfRad dagt & &g @it
gafad difsher @9y &I G@@r g1 W
SifeT ae o def 3MMhfcd 1 JTfashR fomar
it ag OISl & Sgak ddeh & HAST
g 3R el 3R STET S 3TUROm3T @
gHS F 3marE @l

HSTATH YeuuT fhad FFICY §7?
A. TR&TATaT 9T

B. sl B T

C. fsrafFaar

D. $a%-37%

Ans. D

Sol. Itai-itai disease was the name
given to the mass cadmium
poisoning of Toyama Prefecture,
Japan, starting around 1912. The
term "itai-itai disease" was coined by
locals for the severe pains victims
felt in the spine and joints. Cadmium
poisoning can also cause softening of
the bones and kidney failure.
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74. fAfeRor & @y ysRT (36w, der 3R

75.

76.

IMAT) H IdT W@ AR 39T AT &
T JAeT fFar S arelr 39aoT § |

A. SSR &13eX

B. Gra{iHTeY

C. e

D. ¥f3aieTex

Ans. A

Sol. Geiger counter is used for
measuring ionizing radiation such as
alpha particles, beta particles, or
gamma rays. Geiger-Miller tube uses
radiation sensors which gives out an
electronic signal when radiation is
present which is displayed in "counts
per second". And its unit is Sievert.

FeAEIAST & fvg e & samr = §
fF FT 918 AT IS¢ Ad HI ST Fehall;
ol dd TH ® § @l T H
FAAIARA a1 gRafda $r 31 Ghar g2
A. FeaATfddT #1 T e
B. FSATATIHR T 9UA g
C. SSHAEIIR &1 gladrd &as

D.mmﬁ@rwq?hwﬁm

Ans. B

Sol. The first law of thermodynamics
states that energy can neither be
created nor destroyed; energy can
only be transferred or changed from
one form to another. It is also called
law of conversation energy.
For example, turning on a light would
seem to produce energy; however, it
is electrical energy that is converted.

10 dec @1 S & AFce arer
HATH IEAA F AU R Fem #r
3TIRIHT gl 8?

A. 157

B. 125

C. 105e

D. 53fel
Ans. C
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77.

78.

Sol. The energy required by each
coulomb of charge is equal to the
amount of work which is done in
moving it.
Potential difference = work done

charge

So, work done = potential difference
x charge And it is given that,

charge = 1 coulomb
potential difference = 10 V
So from above expression, work
done = 10 x 1 = 10 Joule.

Therefore, 10 J of energy is required
by each coulomb of charge passing
through a battery of 10V.

orer K ATHE H T F AFT g
STelrell I o

A. #rae

B. dATsecd 3FdISS

C. A TAIIT

D. Ara=Atoled

Ans. C

Sol. The poisonous gas accidentally
released in Bhopal Gas Tragedy is
Methyl Isocynate. It is one of the
most disastrous gas leakage which
occurred in Bhopal in December
1984.

AFEsT 3T ddelies &1 3UAT g
forw forar arar g2

A. AT & HeWUT F IAAA oA F
IGIY

B. BIffied & Ul &1 AET M 3HeUTd
T & T

C. ®Ifficd # 37 H IAUd oA &
IGIY

D. fREdr T IUTaEr HT T TS F
IGIY

Ans. C

Sol. Radiocarbon dating is a method
for determining the age of an object
containing organic material by using
the properties of radiocarbon C14, a
radioactive isotope of carbon. The
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method was developed by Willard
Libby and won Nobel Prize in
Chemistry for his work in 1960.

faf@a & & a9 @ sifedeor
AR A v AAvar FE § ?

A. STH BISZIST I sl AMAS gl g
B. 3&# iRl &I S[SaTT QAT g &
C. 3TH sogcicd HT Wiar AfAT gar &
D. s&H fagaRocA®: dcd F S5

A gl & |
Ans. A

Sol. e 3ifeErToT gfafear v qErfas
gfafsear § S soegediica dea &
T faRed gar § 3R goaee &
qHhdAld & FROT Uk ded H 0BT H
Tear # aRade g gl

o Foldclc] HT FHAW JHiFdsd AT &
37CTaT AT gTSgIoel 3 & gl & HROT
gl B

o 3CIEIUT. Wllg H ST R g H
3erdISTa & 3O o 3feITdl gl & HROT
g B

AferAITSe 3chote U Slgdel Ygue &l
JoraT & ¥ |

A. FET 3 3FATSS

B. WeWT 31T ATFATSS

C. FIaT AA3TFaTSS

D. ATgeH 3183
Ans. C

Sol. #EY AKX dled 3cdsid NOX,
argefier Fafaes AR, 3, FEd
AA3NFAES (CO), WeReh Y Yg¥h
(e uerd), & gerd (PM10 3R
PM2.5), & IE3@AREs  (CO02)3R
S arsq §| SAH A FIeT AT HFAES
F el A7 g
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81.

82.

83.

Ife T g IW HE ST g, ar
frafaf@a & & 7 gRafda g gar
A. @XoT

B. aifa

C. FRyfast Far

D. g1

Ans. A
Sol. 1§ U& dg Hehl ST g, df ca”or

&7 deoIdT &1 <aloT A9 & gRadel Hr
X gl

e UIRIY 3R IRcarhy¥or oo H
3ufeAfd & FROUT caROT g7 Scodl g ol
g Fr I RO F Ty AT IR
draar § B g IR S B

o 3ATOIT, XOT Jet HT 3N T B

Ueh J9T GHT IATH I Solled FAT SATAT &7
A. calor

B. g
C. aifa

D. gar

Ans. A

Sol. e« Slope of a velocity time graph
represents Acceleration.

o if the acceleration is zero, then the
velocity-time graph is a horizontal
line (i.e., the slope is zero). If the
acceleration is positive, then the line
is an upward sloping line (i.e., the
slope is positive). If the acceleration
is negative, then the velocity-time
graph is a downward sloping line
(i.e., the slope is negative)

el dg Refafad # @ g &
fre flgaid W S &ar §?

A. RadeT

B. 39ddie

C. fQad=

D. qoT 3HidReh WRrdciet

Ans. D

Sol. Optical fibre works on Total
internal reflection. It is the
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phenomenon which occurs when a
propagated wave strikes a medium
boundary at an angle larger than a
particular critical angle with respect
to the normal to the surface.

3T d9AT & AT H fhd 3UHI0T &T
3urer fRar Srar 87

A. HTFEX

B. BletHiex

C. YA

D. 9RRIHE

Ans. D

Sol. A pyrometer is a device for
measuring very high temperatures
and uses the principle that all
substances emit radiant energy when
hot, the rate of emission depending
on their temperature. There are two
main types of pyrometer, namely the
total radiation pyrometer and the
optical pyrometer.

fAfafereT 1 @ior forast &1 oY ?

A. @5 foreex

B. 3Tcleaisy FelfdaT

C. Flel dSEEI

D. dleex {13

Ans. B

Sol. Penicillin, the first true

antibiotic, was  discovered by
Alexander Fleming, Professor of
Bacteriology at St. Mary's Hospital in
London.

Penicillins are a certain collection of
antibiotics that eliminate infection
causing bacteria. Also known in short
as pen or PCN, they originate from a
type of fungi called Penicillium fungi.
They are used in the treatment or
prevention of many different
bacterial infections, usually caused
by Gram-positive organisms.

ThERIaTd FT 3MaseR fhaar har ar?
A. TE.TA. 9
B. @& I

h &=
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87.

88.

89.

C. @ I

D. .. #groEfad

Ans. C

Sol. Indian Scientist Sir Dr. Jagadish
Chandra Bose invented the
Crescograph an electrical instrument
that could measure the growth of a
plant

Frefgrsse & =T
glar & ?

A. BYE 3a

B. AW

C. s

D. 31T

Ans. B

Sol. Digestion of carbohydrates, and
in particular starches, begins in the
mouth with the action of salivary
amylase. This enzyme catalyzes, or
speeds along, the hydrolysis of the
starch molecule.

" U
9

h Ud AHIRAT # ol AT gl ©
A. FEEBIT & ¥ H
B.3aT & &9 &

C.UId & & &

D. TeTShIoIA & &I &
Ans. D
Sol. R @& 3T & faU Fohlel &

3METFHAT &7 W IAASHhIold H STHAT IIT
FI 39rer fRar AT &

151551 S 0 1 < -+ B 2 1 0 §
TRFATAST T ufshar & e Sha $r
3TaLThdr gar oA -

A. Sirarog

B. fawmor

C. QI3

D. 3=
Ans. A
Sol. g ad & & FHAS HI

a@%ﬂaﬁﬁ@rmﬁmaﬁr

90.

91.

92.

93.
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MARIRAT gl ANl &l ol & fod gy
# 30-40 °C d& 3dTclel & dIG 33T &
SHH U TFAT gl STell Sl &1 37 &gl
# dffesd 3HFEol SfEmo]  (lactic acid
bacteria) 3 St $r gt ¥ sHA Ao
TR Fo & gel 7 do & Ay Foe
T € W gy A & &

ST & WR & & H N.0T A g

A. 6.4
B. 4.8
C.7.4
D. 8.4
E. 6.2
Ans. C

Sol. HJT & WR & I&d H d.UT A
7.4 | Uh q¥Eh HT H AHGAT 5-6
e I giar ¢l

AT RUFT H Iwrse H &
9 F gAer fRAr SATar #

A. dfshe

B. Wl

C. ofifeX 3% g RuaFex

D. #Algelex

Ans. D
Sol. Nuclear reactors are used at
nuclear power plants for electricity

generation .These are generally
graphite moderated and
COzcooled.

WHWW%‘:

A. IITIEETReI3IRT Telielst

B. Uifaifa=se Feliss

C. uifafa=ger whe[3iRTgs

D. STEFART SEHAINRT AT

Ans. A

Sol. dreliceraRl wfifoed &1 A#AET
AT TFATT B

WIHE & YANET 3IeH-H0T fa@ia &r
T & T Fia 3aErRy a1

I9d NTPC 2019 Hich ¢« H&wt



http://www.gradeup.com/
https://xu75j.app.goo.gl/6AvH

www.gradeup.co

94.

95.

A. TRATI] ATfHS

B. Solarglel

C. el

D. 7t

Ans. A

Sol. WA AfHF Il FANT & INUR

W, TIOE o TH WA & ANART
Al F I @, GaE Aeateataa
avare o

I Felqd AHE UTh WA A Th
YellcHeh AL g 81 oramstar Tl aaATo]
GCOAT ST q @a gl
I1. Soiggiel HEM3T H ATfRS & IR 3R
T &

III. WA & HHR A Jelell H ATMAS
FT 3TPR ggd oeT &

Source: Science JNCERT Class 9
Chapter 4

Feaegored frahr gdell Wd & @Y
FIfET TP T F T FT v [ §

A. s
B. vegfAfgH
C. TS5l

D. e
Ans. C
Sol. i e Ieaarsaier (AT FeaaAsiT,

HAAR W 3T &7 F 38 Aeaarsior
FET ST B) ST B Ahy F AT Tl
I dig & fow SEar Fifésr aemea
gfhar 81 @sd I3mH fAafr sRE-gedr
Heaarsioier g, a# #el & R go
SEd a ECIR) St gl
Source : Science NCERT Class 9
Chapter 4

"SR’ SHIS FT T2 FAT ST B
A. U1 &1 Aadr aAT9eT 7
B. &afa & dgar A &

96.

97.

$

gradeup

C. 8{FF9 &I Flfeddld A9 H

D. 3Wiad # ¥ #S 78T
Ans. B
Sol. &afer Fr drgar A & forw SAea’

SHIS FT 3UAT FAT SATAT §1 ThIq F
AT @l hSell GaRT, §eheT I diear &l
RuFer THa W A s R
eafad & fgar & A & v sl
SIS HT I9AET fFAT ST §| e
ganT, geerer & dgar AT ST ¥
RUFeX Fhowr, #da digar & &
ST Bl

SONAR # &1 9 &Il 82
A. WRIHET T

B. 3fa#eg aidn

C. ¥zt ot

D. #re eafey awr

Ans. A

Sol. Sonar (originally an acronym for
Sound Navigation And Ranging) is a
technique that uses sound
propagation (usually underwater, as
in submarine navigation) to navigate,
communicate with or detect objects
on or under the surface of the water,
such as other vessels.

o

ST TESIAT AT foAdel’ GaRT Hel
2006 & & IS TH A3 IR & HTAR
Arfaf@a # @ =i a1 'ag’ 78 8?2

A. I8

B. ivegeT

C. cefer

D. Jfex
Ans. C

Sol. SAT UEIGAGA  FleAhel
(IAU) SaRT 30PRFd 20067 9T #
ST gFRed F & R gt fr a=A
ARHAST & AR Tofel Ug Fecllel &
AMUEUS W W ¢ 3R & FROT 38
Tg T Aoft & 3reEr Sl ag Hr Aot A
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98.

99.

@T 9T gl CoEl @ el 19308- A
FIIS TrHaAr o &r oA

frafaf@d # & g v # o d 781 grar?
A. gt Reax

B. ST Reax

C. & ey

D. R FIEch

Ans. B

Sol. Except German silver, all alloys
given in question contain silver.
There are some important alloys and
their components are given below:
(i) Horn silver It is also called silver
chloride (Ag Cl). Its components are
Ag and Cl.

(ii) German
35%,Ni-1 5%.
(iii) Ruby silver It is also called red
silver.

(iv) Lunar caustic It is also called
silver nitrate (AgN03).

silver Cu-50%,Zn-

‘THAH ¥ Peafaif@ad # ¥ g
AT fRaAT Srar 87

100.

$
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A. 9Tt & S8 $r afa
B. Uty &Y IS
C. 9ad der

D. 9eprer T drgdr
Ans. C
Sol. TAAeT & gar &r AfFd dur T &r

AT ST &1 TAAERT H FEShR Tef
1846# John Thomas
Robinsona ferar am|

Romney

G gyeRll @ s gfafess giar g ?
A. Freufae 3R sier
B. Fledfeisr 3 aer
C. aredids 3R orer

D. aredfas 3R s31
Ans. B
Sol. U WIS oIald Teh 3iifCeehor

3ueor g, foger 3uaer {Qari, @,
3UAEH AR ATHREEMS S g & ey
forl i ¢ g8 ofd A q@a & fav
fohar ST 81 IR gIee ganT
FA1S IS 3ifaH Bfa g7 FeulAF, 3o
AR 37 gl &
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1. FdTaH et e ur 3muTika
2. fe<t qar sfierer ® 3uers

3. 30Tt f3a1 ¥ 3R ug2fq fagyor
4. FATYTT Ht faxgd faaron

5. dd 3R AIdTse UR 3UaTe
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